

# Divisor Function: Elementary Formulas and Asymptotic

Edigles Guedes

February 6, 2013

## ABSTRACT

We discovery some formulas for the divisor function, derived from a Vinogradov's formula and definitions these function, including the Ramanujan's sum. As well, we have developed a formula asymptotic, using the Euler-Maclaurin summation formula.

## 1. INTRODUCTION

Our main goal is the development of the following elementary formulas

$$\sigma_k(n) = \sum_{j=1}^n j^{k-1} \sum_{r=0}^{j-1} e^{\frac{2\pi nr}{j}},$$

$$\sigma_k(n) = \sum_{j=1}^n j^{k-1} \sum_{r=0}^{j-1} \cos\left(\frac{2\pi nr}{j}\right),$$

$$\sigma_k(n) = \sum_{j=1}^n j^{k-1} \sum_{r \bmod j} e^{\frac{2\pi nr}{j}},$$

$$\sigma_k(n) = \sum_{j=1}^n j^{k-1} \sum_{d|j} c_d(n),$$

and asymptotic formula

$$\begin{aligned} \sigma_k(n) \sim & \frac{1}{2} + \frac{1}{2} \sum_{j=1}^n \cos\left(\frac{2\pi n(j-1)}{j}\right) j^{k-1} + \frac{1}{2\pi n} \sum_{j=1}^n \sin\left(\frac{2\pi n(j-1)}{j}\right) j^k \\ & - \frac{\pi n}{6} \sum_{j=1}^n \sin\left(\frac{2\pi n(j-1)}{j}\right) j^{k-3} + \frac{n^2}{\pi} \sum_{k=1}^{\infty} \frac{1}{k} \sum_{j=1}^n \frac{\sin(2\pi k(j-1)) \cos\left(\frac{2\pi n(j-1)}{j}\right)}{(jk-n)(jk+n)} j^{k-1} \\ & - \frac{n^3}{\pi} \sum_{k=1}^{\infty} \frac{1}{k^2} \sum_{j=1}^n \frac{\cos(2\pi k(j-1)) \sin\left(\frac{2\pi n(j-1)}{j}\right)}{(jk-n)(jk+n)} j^{k-2}. \end{aligned}$$

## 2. DEFINITIONS, LEMMAS AND THEOREMS

DEFINITION 1 [1, page 310]:

$$d(n) = \sigma_0(n) := \sum_{d|n} 1.$$

DEFINITION 2 [1, page 310]:

$$\sigma(n) = \sigma_1(n) := \sum_{d|n} d.$$

DEFINITION 3 [1, page 310]:

$$\sigma_k(n) := \sum_{d|n} d^k.$$

LEMMA 1 [2, page 23]. *Let  $k$  be an integer, let  $n$  be an integer, and let*

$$E_j(n) = \sum_{r=0}^{j-1} e_j(nr) = \sum_{r=0}^{j-1} e^{\frac{2\pi i nr}{j}}, \quad \left( e_j(\alpha) = e^{\frac{2\pi i \alpha}{j}} \right).$$

Then

$$E_j(n) = \begin{cases} j & \text{if } j|n \\ 0 & \text{otherwise.} \end{cases}$$

THEOREM 1. *For  $n \in \mathbb{Z}_{\geq 1}$ ,*

$$d(n) = \sum_{j=1}^n \frac{1}{j} \sum_{r=0}^{j-1} e^{\frac{2\pi i nr}{j}}.$$

*Proof.* From Definition 1 and Lemma 1, it follows that

$$d(n) = \sigma_0(n) = \sum_{j=1}^n \frac{E_j(n)}{j} = \sum_{j=1}^n \frac{1}{j} \sum_{r=0}^{j-1} e^{\frac{2\pi i nr}{j}}. \quad \square$$

THEOREM 2. *For  $n \in \mathbb{Z}_{\geq 1}$ ,*

$$\sigma(n) = \sum_{j=1}^n \sum_{r=0}^{j-1} e^{\frac{2\pi i nr}{j}}.$$

*Proof.* From Definition 2 and Lemma 1, it follows that

$$\sigma(n) = \sigma_1(n) = \sum_{j=1}^n E_j(n) = \sum_{j=1}^n \sum_{r=0}^{j-1} e^{\frac{2\pi nr}{j}}. \square$$

**THEOREM 3.** For  $n \in \mathbb{Z}_{\geq 1}$  and  $k \in \mathbb{Z}_{\geq 0}$ , then

$$\sigma_k(n) = \sum_{j=1}^n j^{k-1} \sum_{r=0}^{j-1} e^{\frac{2\pi nr}{j}}.$$

*Proof.* From Definition 3 and Lemma 1, it follows that

$$\sigma_k(n) = \sum_{j=1}^n j^{k-1} E_j(n) = \sum_{j=1}^n j^{k-1} \sum_{r=0}^{j-1} e^{\frac{2\pi nr}{j}}. \square$$

**LEMMA 2.** Let  $k$  be an integer, let  $n$  be an integer, and let

$$C_j(n) = \sum_{r=0}^{j-1} \cos\left(\frac{2\pi nr}{j}\right).$$

Then

$$C_j(n) = \begin{cases} j & \text{if } j|n \\ 0 & \text{else.} \end{cases}$$

*Proof.* In the Lemma 1, observe that the  $\Im(S_j(n)) = \sum_{r=0}^{j-1} \sin\left(\frac{2\pi nr}{j}\right) = \left[\cos\left(\frac{\pi n}{j}\right) - \cos\left(\frac{(2j-1)\pi n}{j}\right)\right] \csc\left(\frac{\pi n}{j}\right) = 0$ , since  $j = 1, 2, 3, \dots$  and  $n = 1, 2, 3, \dots$ ; on the other hand,  $\Re(S_j(n)) = \sum_{r=0}^{j-1} \cos\left(\frac{2\pi nr}{j}\right)$ . So, it follows that

$$\begin{aligned} E_j(n) &= \sum_{r=0}^{j-1} e_j(nr) = \sum_{r=0}^{j-1} e^{\frac{2\pi nr}{j}} = \sum_{r=0}^{j-1} \cos\left(\frac{2\pi nr}{j}\right) + i \sum_{r=0}^{j-1} \sin\left(\frac{2\pi nr}{j}\right) = \sum_{r=0}^{j-1} \cos\left(\frac{2\pi nr}{j}\right) + i \cdot 0 \\ &= \sum_{r=0}^{j-1} \cos\left(\frac{2\pi nr}{j}\right) = C_j(n) = \begin{cases} j & \text{if } j|n \\ 0 & \text{else,} \end{cases} \end{aligned}$$

and we complete the proof.  $\square$

**THEOREM 4.** For  $n \in \mathbb{Z}_{\geq 1}$ , then

$$d(n) = \sum_{j=1}^n \frac{1}{j} \sum_{r=0}^{j-1} \cos\left(\frac{2\pi nr}{j}\right).$$

*Proof.* From Definition 1 and Lemma 2, it follows that

$$d(n) = \sigma_0(n) = \sum_{j=1}^n \frac{C_j(n)}{j} = \sum_{j=1}^n \frac{1}{j} \sum_{r=0}^{j-1} \cos\left(\frac{2\pi nr}{j}\right). \square$$

**THEOREM 5.** For  $n \in \mathbb{Z}_{\geq 1}$ , then

$$\sigma(n) = \sum_{j=1}^n \sum_{r=0}^{j-1} \cos\left(\frac{2\pi nr}{j}\right).$$

*Proof.* From Definition 2 and Lemma 2, it follows that

$$\sigma(n) = \sigma_1(n) = \sum_{j=1}^n C_j(n) = \sum_{j=1}^n \sum_{r=0}^{j-1} \cos\left(\frac{2\pi nr}{j}\right). \square$$

**THEOREM 6.** For  $n \in \mathbb{Z}_{\geq 1}$  and  $k \in \mathbb{Z}_{\geq 0}$ , then

$$\sigma_k(n) = \sum_{j=1}^n j^{k-1} \sum_{r=0}^{j-1} \cos\left(\frac{2\pi nr}{j}\right).$$

*Proof.* From Definition 3 and Lemma 2, it follows that

$$\sigma_k(n) = \sum_{j=1}^n j^{k-1} C_j(n) = \sum_{j=1}^n j^{k-1} \sum_{r=0}^{j-1} \cos\left(\frac{2\pi nr}{j}\right). \square$$

**THEOREM 7.** For  $n \in \mathbb{Z}_{\geq 1}$  and  $k \in \mathbb{Z}_{\geq 0}$ , then

$$\sigma_k(n) = \sum_{j=1}^n j^{k-1} \sum_{r \bmod j} e^{\frac{2\pi nr}{j}}.$$

*Proof.* In [3, p.7], we encounter

$$(1) \quad \sum_{r \bmod j} e^{\frac{2\pi nr}{j}} = \begin{cases} j & \text{if } j|n \\ 0 & \text{contrariwise.} \end{cases}$$

From (1) and definition 3, we find

$$\sigma_k(n) = \sum_{j=1}^n j^{k-1} \sum_{\substack{r \bmod j \\ 0 \leq r \leq j-1}} e^{\frac{2\pi nr}{j}} = \sum_{j=1}^n j^{k-1} \sum_{r \bmod j} e^{\frac{2\pi nr}{j}}. \square$$

**THEOREM 8.** For  $n \in \mathbb{Z}_{\geq 1}$  and  $k \in \mathbb{Z}_{\geq 0}$ , then

$$\sigma_k(n) = \sum_{j=1}^n j^{k-1} \sum_{d|j} c_d(n),$$

where  $c_d(n)$  is the Ramanujan's sum.

*Proof.* In [4, p. 180], Ramanujan define

$$\eta_j(n) := \sum_{r=0}^{j-1} \cos\left(\frac{2\pi nr}{j}\right)$$

and he relates to the Ramanujan's sum

$$(2) \quad \eta_j(n) = \sum_{d|j} c_d(n),$$

which is defined by

$$c_q(n) := \sum_{\substack{a=1 \\ \gcd(a,q)=1}}^q e^{2\pi i \frac{a}{q} n}.$$

Substituting (2) in Theorem 6, we complete the proof.  $\square$

### 3. ASYMPTOTIC FORMULAE

LEMMA 9. For  $n, r \in \mathbb{N}$  and  $f \in C^{(2r)}[0, n]$ , we have

$$\begin{aligned} \sum_{k=0}^n f(k) &= \int_0^n f(x) dx + \frac{1}{2}[f(0) + f(n)] + \sum_{k=1}^r \frac{B_{2k}}{(2k)!} [f^{(2k-1)}(n) - f^{(2k-1)}(0)] \\ &\quad + (-1)^r \sum_{k=1}^{\infty} \int_0^n \frac{e^{2\pi i k t} + e^{-2\pi i k t}}{(2\pi k)^{2r}} f^{(2r)}(t) dt, \end{aligned}$$

where  $B_{2k}$  are the Bernoulli numbers.

*Proof.* See [5, p. 1].  $\square$

THEOREM 10. For  $n \in \mathbb{Z}_{\geq 1}$  and  $k \in \mathbb{Z}_{\geq 0}$ , then

$$\begin{aligned} \sigma_k(n) &\sim \frac{1}{2} + \frac{1}{2} \sum_{j=1}^n \cos\left(\frac{2\pi n(j-1)}{j}\right) j^{k-1} + \frac{1}{2\pi n} \sum_{j=1}^n \sin\left(\frac{2\pi n(j-1)}{j}\right) j^k \\ &\quad - \frac{\pi n}{6} \sum_{j=1}^n \sin\left(\frac{2\pi n(j-1)}{j}\right) j^{k-3} + \frac{n^2}{\pi} \sum_{k=1}^{\infty} \frac{1}{k} \sum_{j=1}^n \frac{\sin(2\pi k(j-1)) \cos\left(\frac{2\pi n(j-1)}{j}\right)}{(jk-n)(jk+n)} j^{k-1} \\ &\quad - \frac{n^3}{\pi} \sum_{k=1}^{\infty} \frac{1}{k^2} \sum_{j=1}^n \frac{\cos(2\pi k(j-1)) \sin\left(\frac{2\pi n(j-1)}{j}\right)}{(jk-n)(jk+n)} j^{k-2}. \end{aligned}$$

*Proof.* We evaluate the sum  $\sum_{r=0}^{j-1} \cos\left(\frac{2\pi nr}{j}\right)$ , using the Lemma 9 and  $r = 1$ , clear that

$$(3) \quad \sum_{r=0}^{j-1} \cos\left(\frac{2\pi nr}{j}\right) \sim \int_0^{j-1} \cos\left(\frac{2\pi nx}{j}\right) dx + \frac{1}{2} \left[ 1 + \cos\left(\frac{2\pi n(j-1)}{j}\right) \right]$$

$$\begin{aligned}
& + \frac{B_2}{2} \left[ \left( \frac{2\pi(j-1)n}{j^2} - \frac{2\pi n}{j} \right) \sin \left( \frac{2\pi(j-1)n}{j} \right) \right] \\
& + \frac{4\pi^2 n^2}{j^2} \sum_{k=1}^{\infty} \int_0^{j-1} \frac{e^{2\pi ikt} + e^{-2\pi ikt}}{(2\pi k)^2} \cos \left( \frac{2\pi nt}{j} \right) dt \\
& = \frac{j}{2\pi n} \sin \left( \frac{2\pi n(j-1)}{j} \right) + \frac{1}{2} \left[ 1 + \cos \left( \frac{2\pi n(j-1)}{j} \right) \right] - \frac{\pi n}{6j^2} \sin \left( \frac{2\pi(j-1)n}{j} \right) \\
& \quad + \frac{4\pi^2 n^2}{j^2} \sum_{k=1}^{\infty} \frac{1}{(2\pi k)^2} \int_0^{j-1} (e^{2\pi ikt} + e^{-2\pi ikt}) \cos \left( \frac{2\pi nt}{j} \right) dt \\
& = \frac{j}{2\pi n} \sin \left( \frac{2\pi n(j-1)}{j} \right) + \frac{1}{2} \left[ 1 + \cos \left( \frac{2\pi n(j-1)}{j} \right) \right] - \frac{\pi n}{6j^2} \sin \left( \frac{2\pi(j-1)n}{j} \right) \\
& + \frac{n^2}{j^2} \sum_{k=1}^{\infty} \frac{1}{k^2} \frac{j \left[ jk \sin(2\pi k(j-1)) \cos \left( \frac{2\pi n(j-1)}{j} \right) - n \cos(2\pi k(j-1)) \sin \left( \frac{2\pi n(j-1)}{j} \right) \right]}{\pi(jk-n)(jk+n)} \\
& = \frac{1}{2} + \frac{1}{2} \cos \left( \frac{2\pi n(j-1)}{j} \right) + \frac{j}{2\pi n} \sin \left( \frac{2\pi n(j-1)}{j} \right) - \frac{\pi n}{6j^2} \sin \left( \frac{2\pi n(j-1)}{j} \right) \\
& + \frac{n^2}{\pi} \sum_{k=1}^{\infty} \frac{\sin(2\pi k(j-1)) \cos \left( \frac{2\pi n(j-1)}{j} \right)}{k(jk-n)(jk+n)} - \frac{n^3}{j\pi} \sum_{k=1}^{\infty} \frac{\cos(2\pi k(j-1)) \sin \left( \frac{2\pi n(j-1)}{j} \right)}{k^2(jk-n)(jk+n)}.
\end{aligned}$$

Substituting (3) in Theorem 6, we find

$$\begin{aligned}
\sigma_k(n) & \sim \sum_{j=1}^n j^{k-1} \left[ \frac{1}{2} + \frac{1}{2} \cos \left( \frac{2\pi n(j-1)}{j} \right) + \frac{j}{2\pi n} \sin \left( \frac{2\pi n(j-1)}{j} \right) - \frac{\pi n}{6j^2} \sin \left( \frac{2\pi n(j-1)}{j} \right) \right] \\
& + \frac{n^2}{\pi} \sum_{j=1}^n j^{k-1} \left[ \sum_{k=1}^{\infty} \frac{\sin(2\pi k(j-1)) \cos \left( \frac{2\pi n(j-1)}{j} \right)}{k(jk-n)(jk+n)} \right] \\
& \quad - \sum_{j=1}^n j^{k-1} \left[ \frac{n^3}{j\pi} \sum_{k=1}^{\infty} \frac{\cos(2\pi k(j-1)) \sin \left( \frac{2\pi n(j-1)}{j} \right)}{k^2(jk-n)(jk+n)} \right] \\
& = \frac{1}{2} + \frac{1}{2} \sum_{j=1}^n \cos \left( \frac{2\pi n(j-1)}{j} \right) j^{k-1} + \frac{1}{2\pi n} \sum_{j=1}^n \sin \left( \frac{2\pi n(j-1)}{j} \right) j^k \\
& - \frac{\pi n}{6} \sum_{j=1}^n \sin \left( \frac{2\pi n(j-1)}{j} \right) j^{k-3} + \frac{n^2}{\pi} \sum_{k=1}^{\infty} \frac{1}{k} \sum_{j=1}^n \frac{\sin(2\pi k(j-1)) \cos \left( \frac{2\pi n(j-1)}{j} \right)}{(jk-n)(jk+n)} j^{k-1}
\end{aligned}$$

$$-\frac{n^3}{\pi} \sum_{k=1}^{\infty} \frac{1}{k^2} \sum_{j=1}^n \frac{\cos(2\pi k(j-1)) \sin\left(\frac{2\pi n(j-1)}{j}\right)}{(jk-n)(jk+n)} j^{k-2}. \square$$

## REFERENCES

- [1] Hardy, G. H. and Wright, E. M., *An Introduction to the Theory of Numbers*, Oxford, 2008.
- [2] Vinogradov, I. M., *The Method of Trigonometrical Sums in the Theory of Numbers*, Dover, 2004.
- [3] Beck, Matthias, Dedekind Cotangent Sums, arXiv:math/0112077v3[math.NT] 2 Jan 2005.
- [4] Ramanujan, S., *Collected Papers of Srinivasa Ramanujan*, AMS Chelsea Publishing, 2000.
- [5] Butzer, P.L., Ferreira, P. J. S. G., Schmeisser, G. and Stens, R. L., *The Summation Formulae of Euler-Maclaurin, Abel-Plana, Poisson, and their Connections with the Approximate Sampling Formula of Signal Analysis*, Results in Mathematics, Springer Basel AG, 2010.